
SAP ABAP table ESKN {Account Assignment in Service Package}

ESKN

MANDT [CLNT (3)]

PACKNO [NUMC (10)]

ZEKKN [NUMC (2)]

SAKTO [CHAR (10)]

GSBER [CHAR (4)]

KOSTL [CHAR (10)]

VBELN [CHAR (10)]

VBELP [NUMC (6)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]

AUFNR [CHAR (12)]

KOKRS [CHAR (4)]

KSTRG [CHAR (12)]

PRCTR [CHAR (10)]

PS_PSP_PNR [NUMC (8)]

NPLNR [CHAR (12)]

VPTNR [CHAR (10)]

FIPOS [CHAR (14)]

LSTAR [CHAR (6)]

PRZNR [CHAR (12)]

ANLA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]

 ESKN-ANLN2 = ANLA-ANLN2 
1..N

1

ANLH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

 ESKN-ANLN1 = ANLH-ANLN1 
1..N

1

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 ESKN-AUFNR = AUFK-AUFNR 

1..N

1

 ESKN-NPLNR = AUFK-AUFNR 1..N

1

CBPR

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

PRZNR [CHAR (12)]

DATBI [DATS (8)]

 ESKN-PRZNR = CBPR-PRZNR 0..N

0..N

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]

 ESKN-PRCTR = CEPC-PRCTR 0..N

1

CKPH

MANDT [CLNT (3)]

KSTRG [CHAR (12)]

DATBI [DATS (8)]
 ESKN-KSTRG = CKPH-KSTRG 1..N

1

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]
 ESKN-KOSTL = CSKS-KOSTL 0..N

1

CSLA

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

LSTAR [CHAR (6)]

DATBI [DATS (8)]

 ESKN-LSTAR = CSLA-LSTAR 0..N

0..N
ESLH

MANDT [CLNT (3)]

PACKNO [NUMC (10)]

 ESKN-PACKNO = ESLH-PACKNO 
0..N1

FMFPO

MANDT [CLNT (3)]

FIKRS [CHAR (4)]

FIPOS [CHAR (14)]

DATBIS [DATS (8)]

 ESKN-FIPOS = FMFPO-FIPOS 

0..N

{0,1}

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 ESKN-VPTNR = KNA1-KUNNR 

0..N

{0,1}

PRPS

MANDT [CLNT (3)]

PSPNR [NUMC (8)]

 ESKN-PS_PSP_PNR = PRPS-PSPNR 

1..N

1

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 ESKN-SAKTO = SKA1-SAKNR 

1..N

1

T000

MANDT [CLNT (3)]

 ESKN-MANDT = T000-MANDT 

1..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 ESKN-GSBER = TGSB-GSBER 

1..N

1

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 ESKN-KOKRS = TKA01-KOKRS 

1..N

1

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 ESKN-VBELN = VBUK-VBELN 

1..N

1

VBUP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 ESKN-VBELP = VBUP-POSNR 

1..N

1


